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e Diviser P(z) = 22 + 32% — bz + 1 par z + 2
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e Diviser P(z) = bz* — 32% + 22 — 3 par z + 1

5a -3+ 20 -3z +1
— 5ot — 5a? ‘ S5a3 — 5x? + 2z
— ba® — 322
53 + Hx?
202 + 2x
— 22 — 2x
-3

3

e Diviser P(x) = 2* — 2> —x — 2 par z — 2
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e Diviser P(z) = 42® — 5z + 1 par . — 1

e Diviser P(z) = bx* — 32 + 22 — 3 par x + 1
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e Diviser P(x) = 42% — 52% + 1 par 2x — 1

4z — 5a® +1z-1
— 425 + 4a2* ‘4x4+4x3—x2—x—1
4a* — b3
— 4o + 423
— 3
3 — 22
— 2
a—"
—z+1
r—1
0

4z — 52 +1[2z -1
— 425 + 2% ‘2x4+x3+%x2
224
— 2zt 4 23
x3 — bha?
3, 1,2
— 2+ 3T
9,2
2
9.2 _ 9,
—%x—kl
9 9
T~ &

|
o=

9, __ 9
T — 3

MOSAID le 11/02/2024

www.mosaid.xyz


https://mosaid.xyz/cc
https://mosaid.xyz/cc

